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QUESTION 1 
In the Cisco UCSInvicta Scaling Solution, what is the maximum number of nodes allowed in a 
single volume? 
 

A. 1 

B. 2 

C. 3 

D. 4 

E. 5 

F. 6 

 
Answer: F 
 
 
QUESTION 2 
Which three options are three characteristics of the Cisco UCS Invicta process flow for writes? 
(Choose three.) 
 

A. It avoids complex garbage collection. 

B. Data is striped across all 22 drives for performance. 

C. Padding is added if the write is less than a full erase block. 

D. A 24 MB write buffer is used. 

E. One drive is reserved for parity. 

F. 4 KB erase blocks are used. 

 
Answer: ABC 
 
 
QUESTION 3 
Which option lists the three storage challenges of big data? 
 

A. Volume, viscosity, variety 

B. Volume, vision, velocity 

C. Size, sequencing, security 

D. Normalization, sorting. RBAC 

E. Volume, velocity, variety 

 
Answer: E 
 
 
QUESTION 4 
Which two challenges of batch processing environments is Cisco UCS Invicta well suited to 
address? (Choose two.) 
 

A. Batch processing during regular business hours 

B. NVRAM required by batch processes 

C. CPU resources required by batch processes 

D. Impact on subsequent batches if a batch does not finish in time 

E. Boot storms 

F. Logon storms 

 
Answer: BC 
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QUESTION 5 
Which two Hadoop processes or components should Cisco UCS Invicta be targeted at? (Choose 
two.) 
 

A. Reducer partitions 

B. Temporary storage for Reducer sorting 

C. Reducer trees 

D. Mapper routing 

E. Mapper outputs 

F. Mapper inputs 

 
Answer: BD 
 
 
QUESTION 6 
Assume a 4 K block with 50% writes and 50% reads. What is the approximate number of 
input/output operations of a typical SAS hard disk drive? 
 

A. About 10-20IOPS 

B. About 100-200IOPS 

C. About 1.000-2.000 IOPS 

D. About 10.000-20.000 IOPS 

E. About 100.000-200.000 IOPS 

 
Answer: D 
 
 
QUESTION 7 
Which feature in the Cisco UCS Invicta management interface allowsadministrators to identify 
discrepancies regarding LUN configuration? 
 

A. Sync SNMP 

B. Sync LUN 

C. Sync SCST 

D. Sync RDMS 

 
Answer: A 
 
 
QUESTION 8 
What is the IP address block of the default management interface? 
 

A. 192.168.0.1/24 

B. 192.168.0.0/24 

C. 172.16.0.0/24 

D. 10.0.0.0/8 

E. 10.0.0.0/24 

 
Answer: D 
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QUESTION 9 
Which three options are three business objectives of Cisco UCS Invicta? (Choose three.) 
 

A. ITIL certification 

B. Data center efficiency 

C. Data reduction 

D. Workload acceleration 

E. High-capacity storage 

F. Low purchase price 

 
Answer: BCD 
 
 
QUESTION 10 
Which two options are two changing dynamics of the storage market? (Choose two.) 
 

A. Performance-optimized hard drives have negative growth. 

B. Capacity-optimized hard drives have essentially flat-line growth. 

C. The market size for 1/O-intensive flash is expected to surpass that of performance optimized hard 
drives by the end of 2015. 

D. Capacity-optimized hard drives have negative growth 

E. Performance-optimized hard drives have essentially flat-line growth 

F. I/O-intensive flash has better growth than either capacity-optimized or performance- optimized 
hard drives. 

 
Answer: AF 
 
 
QUESTION 11 
Which option is the approximate latency of the Cisco UCS Invicta appliance in application- 
acceleration mode? 
 

A. 100 milliseconds 

B. 1 microsecond 

C. 100 nanoseconds 

D. 100 microseconds 

E. 1 millisecond 

F. 1 second 

 
Answer: D 
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